



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{1}{2}\right)^{(-1)} + \frac{1}{3} =$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{5}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^{(-1)} - \frac{2}{5} =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^0 - \frac{1}{4} =$$

$$\left(-\frac{3}{5}\right)^0 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{5}\right) + \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right) - \frac{1}{3} =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^{(-1)} - \frac{1}{6} =$$

$$\left(\frac{1}{4}\right)^{(-2)} + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{1}{4}\right) - \frac{2}{5} =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{1}{2}\right)^{(-1)} + \frac{1}{3} = \frac{7}{3} = 2\frac{1}{3}$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \left(-\frac{1}{5}\right) = \frac{134}{45} = 2\frac{44}{45}$$

$$\left(\frac{3}{5}\right)^{(-1)} - \frac{1}{2} = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \frac{3}{5} = \frac{23}{5} = 4\frac{3}{5}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{5}\right) = \frac{9}{20}$$

$$\left(-\frac{1}{6}\right)^{(-1)} - \frac{2}{5} = \left(-\frac{32}{5}\right) = \left(-6\frac{2}{5}\right)$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{33}{50}$$

$$\left(-\frac{1}{4}\right)^0 - \frac{1}{4} = \frac{3}{4}$$

$$\left(-\frac{3}{5}\right)^0 + \left(-\frac{1}{2}\right) = \frac{1}{2}$$

$$\left(\frac{1}{5}\right) + \left(-\frac{3}{5}\right) = \left(-\frac{2}{5}\right)$$

$$\left(-\frac{1}{5}\right) + \frac{1}{2} = \frac{3}{10}$$

$$\left(\frac{1}{5}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{51}{2} = 25\frac{1}{2}$$

$$\left(-\frac{1}{4}\right) - \frac{1}{3} = \left(-\frac{7}{12}\right)$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{33}{50}$$

$$\left(\frac{1}{5}\right)^{(-1)} - \frac{1}{6} = \frac{29}{6} = 4\frac{5}{6}$$

$$\left(\frac{1}{4}\right)^{(-2)} + \left(-\frac{1}{4}\right) = \frac{63}{4} = 15\frac{3}{4}$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{3} = \frac{13}{36}$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{6} = \left(-\frac{5}{36}\right)$$

$$\left(\frac{1}{4}\right) - \frac{2}{5} = \left(-\frac{3}{20}\right)$$